831
X =14 ¢l o
Y =24
Ho«isoM‘L Joanwk,:
y=1=0
> {NJC,\ \noRsonds\L rnyeaks

Verdbihale  Lorgaades:
X/ =11 = 0
t=0

E A \/Lfléb'“k -Lz«'\')z,,\{:
Y. = Ot-\'\ =
\j -:7/'0"\'\ - 'L(

" Fw\h{»q» <\/ 'LO






7315

E———

3 C L\
Y=t -2t&— 9

4)

y=trt e 70

W Toryert 05 Nodmal

edt-D

Tamg&{-’ ‘
X:{(@*f.(@)
i !(_b, :
ijzz(@*'z Y

£e=3t -1,
7' ()= 3

p()= =21

(t49
(4

' = '\1‘7.:\
Fi(y =3

ﬂ'(ﬂ 143 i Y
=

g(N =1+ =T
Y = "“'l'l'('k’“0

T(M\%j;k . {j’-l*“'({-h

b

£-1



Nd(wx

Y m>+j (@ ({ e>

* X;—\M-(t*D
Y= 7 - \‘(ﬁ’m






